

PO No. 4500086217

Date: 12/05/2016 Page 1 of 5

Ship To:

SDFD MATERIAL & MAINT REPAIR FACILITY MS 15 3870 KEARNY VILLA RD SAN DIEGO CA 92123-1702 Bill To:

SAN DIEGO FIRE LOGISTICS 3870 KEARNY VILLA RD SAN DIEGO CA 92123-1702 Billing Contact: FEAUINI HAFOKA

Telephone:

E-Mail:fhafoka@sandiego.gov

Vendor: Allstar Fire Equipment Inc

12328 Lower Azusa Rd Arcadia CA 91006-5872 Terms:

within 30 days Due net **Delivery Terms:**FOB Destination

Buyer: Aimal Laiq
Telephone: 619-236-6150

E-Mail: ALaiq@sandiego.gov

Vendor ID: 10016519 **Telephone**:626-652-0900 **E-Mail:** jasonb@allstarfire.com

ine#	Item ID/Description	Del.Date	Quantity/UM	Uni	t Price	Exten	nded Price
1	New England 1/2 KM III Orange/Blue;1142 (Orange/Blue) Part no. K05160	06/30/2017	10,000 FT	USD	1.08	USD	10,800.00
	Non-Deductible Tax					USD	864.00
**	Item completely delivered						
2	8mm Green Prussik Cord;1142 (Green) Part no. 293018	06/30/2017	5,400 FT	USD	0.52	USD	2,808.00
	Non-Deductible Tax					USD	224.64
**	Item completely delivered						
3	8mm Red Prussik Cord;1142 (Red) Part no. 293038	06/30/2017	1,800 FT	USD	0.52	USD	936.00
	Non-Deductible Tax					USD	74.88
**	Item completely delivered						
4	1/2" Shrink Tubing;1142 Part no. 294312	06/30/2017	20 FT	USD	0.48	USD	9.60
	Non-Deductible Tax					USD	0.77
**	Item completely delivered						
5	3/4" Shrink Tubing;1142 Part no. 294358	06/30/2017	15 FT	USD	0.57	USD	8.55
	Non-Deductible Tax					USD	0.69
**	Item completely delivered						
6	Helix Class 3 Harness - Large;1142 Part no. 202835	06/30/2017	6 EA	USD	324.11	USD	1,944.66
	Non-Deductible Tax					USD	155.57
**	Item completely delivered						

Notes: The Terms and Conditions of this Purchase Order are available at http://sandiego.gov/purchasing/

IMPORTANT!

To ensure prompt payments, PO # must appear on all shipments and invoices; all invoices must be directed to *Billing** Contact person at *Bill-To* address listed above

SEE LAST PAGE FOR TOTAL



PO No. 4500086217

Date: 12/05/2016

Page 2 of 5

Line#	Item ID/Description	Del.Date	Quantity/UM	Unit	Price	Extend	ded Price
7	Helix Class 3 Harness - Medium;1142 Part no. 202834	06/30/2017	6 EA	USD	324.11	USD	1,944.66
***	Non-Deductible Tax Item completely delivered					USD	155.57
8	Life Saver Victim Harness;1142 Part no. 202405	06/30/2017	4 EA	USD	181.50	USD	726.00
***	Non-Deductible Tax Item completely delivered					USD	58.08
9	Life Saver Chest Harness;1142 Part no. 202404	06/30/2017	4 EA	USD	77.07	USD	308.28
***	Non-Deductible Tax Item completely delivered					USD	24.66
10	CMC ProTech Steel Carabiner;1142 Part no. 300110	06/30/2017	90 EA	USD	30.25	USD	2,722.50
***	Non-Deductible Tax Item completely delivered					USD	217.80
11	CMC ProTech Aluminum CarabinerBrite;1142 Part no. 300161	06/30/2017	60 EA	USD	17.29	USD	1,037.40
***	Non-Deductible Tax Item completely delivered					USD	82.99
12	CMC Aluminum Oval Carabiner;1142 Part no. 300083	06/30/2017	16 EA	USD	12.24	USD	195.84
***	Non-Deductible Tax Item completely delivered					USD	15.67
13	CMC Pro Series Pulley;1142 Part no. 300441	06/30/2017	10 EA	USD	90.75	USD	907.50
***	Non-Deductible Tax Item completely delivered					USD	72.61
14	CMC Brake Rack;1142 Part no. 300890	06/30/2017	4 EA	USD	120.28	USD	481.12
***	Non-Deductible Tax Item completely delivered					USD	38.49
15	CMC Rescue 8 Plate;1142 Part no. 300840	06/30/2017	30 EA	USD	51.14	USD	1,534.20
***	Non-Deductible Tax Item completely delivered					USD	122.73
Notes: Th	he Terms and Conditions of this Purchase Order are	available at http://sandiego.	gov/purchasing/	SE	E LA	ST F	PAGE
	IMPORTANT e prompt payments, PO # must appear on all so billing Contact person at Bill-To address liste				FOR		



PO No. 4500086217

Date: 12/05/2016

Page 3 of 5

Line#	Item ID/Description	Del.Date	Quantity/UM	Uni	t Price	Extend	ded Price
16	Red Tubular Webbing;1457 Part no. 200103	06/30/2017	600 FT	USD	0.33	USD	198.00
	Non-Deductible Tax					USD	15.84
***	Item completely delivered						
17	Green Tubular Webbing;1457 Part no. 200106	06/30/2017	400 FT	USD	0.33	USD	132.00
	Non-Deductible Tax					USD	10.56
***	Item completely delivered						
18	Yellow Tubular Webbing;1457 Part no. 200107	06/30/2017	1,000 FT	USD	0.33	USD	330.00
	Non-Deductible Tax					USD	26.40
***	Item completely delivered						
19	Blue Tubular Webbing;1457 Part no. 200102	06/30/2017	1,800 FT	USD	0.33	USD	594.00
***	Non-Deductible Tax Item completely delivered					USD	47.52
20	Orange Tubular Webbing;1457 Part no. 200101	06/30/2017	1,200 FT	USD	0.33	USD	396.00
***	Non-Deductible Tax Item completely delivered					USD	31.68
21	Load Release Straps;1142 Part no. 201108	06/30/2017	16 EA	USD	48.26	USD	772.16
***	Non-Deductible Tax Item completely delivered					USD	61.77
22	CMC Rappel Gloves XL;1142 Sizes:	06/30/2017	20 PR	USD	37.45	USD	749.00
	(20) XL/ Part no. 250205						
***	Non-Deductible Tax Item completely delivered					USD	59.93
23	CMC Rappel Gloves L;1142	06/30/2017	12 PR	USD	37.45	USD	449.40
	Sizes: (12)Large/ Part no. 250204						
	Non-Deductible Tax					USD	35.95
***	Item completely delivered						
24	CMC Rappel Gloves M;1142	06/30/2017	5 PR	USD	37.45	USD	187.25
	Sizes: (5) Medium/ Part no. 250203						
Notes: Th	he Terms and Conditions of this Purchase Order ar	re available at http://sandi	ego.gov/purchasing/	QE	= I A	ST E	PAGE
	IMPORTAI	NT!			FOR		
o ensur	e prompt payments, PO # must appear on al o <i>Billing</i> Contact person at <i>Bill-To</i> address lis		es: all invoices must b	pe	TUK	101	AL



PO No. 4500086217

Date: 12/05/2016

Page 4 of 5

Line#	Item ID/Description	Del.Date	Quantity/UM	Unit P	rice	Extend	ed Price
***	Non-Deductible Tax Item completely delivered					USD	14.98
25	Petzi Vertex Helmets;1142 White Part no. 345110	06/30/2017	8 EA	USD	92.72	USD	741.76
****	Non-Deductible Tax Item completely delivered					USD	59.34
26	Pick Off Straps;1142 Part no. 201107	06/30/2017	4 EA	USD	105.16	USD	420.64
****	Non-Deductible Tax Item completely delivered					USD	33.65
27	CMC Helmet Bag;1142 Part no. 441023	06/30/2017	15 EA	USD	45.42	USD	681.30
***	Non-Deductible Tax Item completely delivered					USD	54.50
28	CMC Rope Bag Size#1;1142 Size #1 Red Part no. 430103	06/30/2017	12 EA	USD	39.61	USD	475.32
***	Non-Deductible Tax Item completely delivered					USD	38.03
29	CMC Rope Bag Size#2;1142 Size #2 Red Part no. 430203	06/30/2017	8 EA	USD	54.02	USD	432.16
***	Non-Deductible Tax Item completely delivered					USD	34.57
30	CMC Rope Bag Size#2;1142 Size #2 Orange Part no. 430201	06/30/2017	16 EA	USD	54.02	USD	864.32
***	Non-Deductible Tax Item completely delivered					USD	69.14
31	CMC Rope Bag Size#2;1142 Size #1 Yellow Part no. 430207	06/30/2017	8 EA	USD	54.02	USD	432.16
***	Non-Deductible Tax Item completely delivered					USD	34.57
32	CMC Rope Bag Size#3;1142 Size #3 Orange Part no. 430301	06/30/2017	8 EA	USD	61.22	USD	489.76
Notes: T	he Terms and Conditions of this Purchase Or	der are available at http://sandiego.gc	pv/purchasing/	SEI	E LA	ST F	AGE
	IMPO	RTANT!				TOT	



PO No. 4500086217

Date: 12/05/2016

Page 5 of 5

Line#	Item ID/Description	Del.Date	Quantity/UM	Unit P	rice	Exter	nded Price
***	Non-Deductible Tax Item completely delivered					USD	39.1
33	CMC Equipment Bag XL;1142 Sizes:	06/30/2017	3 EA	USD	133.25	USD	399.7
***	(3) XL/ Part no. 431151 Non-Deductible Tax Item completely delivered					USD	31.9
34	CMC Small Stuff Sack;1142	06/30/2017	24 EA	USD	18.73	USD	449.5
***	Small/ Part no. 432301 Non-Deductible Tax Item completely delivered					USD	35.9
35	CMC Etrier w/Tie in Blue;1142 Blue/ Part no. 201122	06/30/2017	1 EA	USD	39.61	USD	39.6
***	Non-Deductible Tax Item completely delivered					USD	3.1
36	CMC Anchor Plate;1142 Part no. 300610	06/30/2017	4 EA	USD	40.28	USD	161.1
	Reference quote dated October 20, 2016 Department contact: Henry DeSimas (858)573-1351						
	Billing: SDFD Logistics 3870 Kearny Villa Road San Diego, CA 92123						
**	Non-Deductible Tax Item completely delivered					USD	12.8
lotes: Ti	he Terms and Conditions of this Purchase Order are	available at http://sandiego	.gov/purchasing/	Line Iter			35,759.5
	IMPORTANT	ri .		Tax	ď	\$	2,860.7